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Task 2.3 

 
The word exempt should not be there. This affects the question and the answer. 

Task 4.20 

 
Second sentence should read: “She gives you the following information…” 

Task 4.24 

 
The requirement should say “…the payroll deduction scheme for occupational pensions works.” 

 



Task 5.5 

 
In property two delete the word annual. 

 

 

Task 7.1 

In the solution to requirement (b) the total is labelled as income tax liability on the bank interest.  It should simply 

be the tax liability. 

 

PTAX AQ2016 QB – Errata on practice assessments 

PA1 

Task 8 

I think the second reference to annual exemption utilisation is un-necessary. 

Task 10 

I think another table is needed for the students to calculate their gains in, as per the solution. 

Task 11(b) 

The date 31.09.16 should be replaced with 30.09.16. This also applies to the solution.  

 

PA2 

Task 13(b) 

In the solution, delete ‘one’ after the word ‘property’. 

 

PA3 

Task 1(b) 

Remove the word ‘this’ from before the word ‘benefit’. 

Task 2(a) 

Change requirement so it states ‘….the following benefits as a result…’ 

Task 3(a) 

Remove the section at the end of (4) referring to a dispensation in force. FA16 removed the dispensation regime. 

This should be removed from the solution too. Replace with ‘This is exempt as the reimbursement is covered by 

an allowable deduction.  

 

PA4 

Task 3(a) 

Remove the section at the end of (4) referring to a dispensation in force. FA16 removed the dispensation regime. 

This should be removed from the solution too. Replace with ‘This is exempt as the reimbursement is covered by 

an allowable deduction.  

 

PA5 

Task 12(b) 

The table for the answers actually shows which one is correct so this needs to be changed.  

Task 12(a) 

In the solution, the working for the nil rate band needs changing to remove an extra ‘£’, and a ‘(‘ should be entered 

between the £ and 3. 



 


